


 
1. When multiplying a number by 105, how 

is the decimal point moved? 

A 5 places to the right 

B 5 places to the left 

C 4 places to the right 

D 4 places to the left 
______________________________  

2. Estimate to find the correct answer for 
each expression. 

 270 220 240 250 

349.6 – 112.8 ❒ ❒ ❒ ❒ 

173.3 + 78.4 ❒ ❒ ❒ ❒ 

817.2 – 597.1 ❒ ❒ ❒ ❒ 

108.8 + 159.3 ❒ ❒ ❒ ❒ 

 
______________________________  

3. Trina lives 4.2 miles from her school. 
Richard lives 0.75 times this distance 
from the school. How far from the school 
does Richard live? Show your work in 
the box. 

 

 
______________________________  

4. A. Which expression is NOT 
     equivalent to 1.24 × 0.9? 

A 
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 B. What is 1.24 × 0.9? 

 

5. Seth has some boards that are each 
0.24 meter long. He places 6 of the 
boards end-to-end. 

A. Shade the grids to model the total 
length of the boards. 

 

B. What is the total length of the 
boards? Write your answer in the 
box. 

 

 
 ______________________________  

6. An auditorium has 29 rows of chairs with 
115 chairs in each row. How many chairs 
does the auditorium have in all? Show 
your work in the box. 

 

 

 

 
 ______________________________  

7. Sandra is 56.43 inches tall. On her fifth 
birthday, she was 43.27 inches tall. 
Which equation shows how much she 
has grown since her fifth birthday? 

A 56.43 + 43.27 = 99.70 inches 

B 56.43 – 43.27 = 13.16 inches 

C 43.27 – 56.42 = 13.16 inches 

D 43.27 + 56.42 = 99.70 inches 
 



 

 

8. Which decimal makes the equation true? 

30.34 +  = 42.04 

A 11.7 

B 11.8 

C 12.3 

D 12.7 
______________________________  

9. Dan wants to swim 2,500 laps in the pool 
before a swim meet that is 16 weeks 
away. He plans to swim 160 laps in the 
pool each week for the first 15 weeks. 

A. What is the total number of laps he 
will swim during the first 15 weeks if 
he swims 160 laps each week? 
Show your work. 

 

 

B. Predict whether Dan will be able to 
swim 2,500 laps before the swim 
meet. Explain your answer. 

 

 

 

 

 
______________________________  

10. Find two numbers that round to 83.6 
when rounded to the nearest tenth. Write 
the numbers in the box. 

  

 

 

11. Compare the values of the digit 8 in the 
number 6,084 and in the number 9,821. 

 

 

 

 

 

 
 ______________________________  

12. Alysa buys 23 boxes of toothpicks for a 
school project. There are 255 toothpicks 
in each box. What is the total number of 
toothpicks, t, in all of the boxes? Write 
and solve an equation for t. 

 

 

 

 
 ______________________________  

13. A. Select all of the partial products 
     for 3.4 × 1.2. 

 3.0 × 1.0 = 3.00 

 3.0 × 0.4 = 1.20 

 0.4 × 1.0 = 0.40 

 1.0 × 0.2 = 0.20 

 3.0 × 0.2 = 0.60 

 0.4 × 0.2 = 0.08 

 B. What is 3.4 × 1.2? 

 

 

 _________________________  
83.05 83.548 83.609 83.65 83.58 83.2 



 

 

14. Tyrel spent $3.37 on lunch. Daniel spent 
$5.09 on lunch. Use the models provided 
and mental math to answer the 
questions. 

A. What was the total amount that the 
two boys spent on lunch? 

 

 

 

 

B. How much more did Daniel spend on 
lunch than Tyrel? Explain how the 
diagram helps you find the answer. 

 

 

 

 

 

 

 

 

 

 

 

 

15. Patrick walks 0.78 mile each day. 

A. How far will he walk in all if he walks 
this distance each day for 14 days? 

 

 

 

B. How could you use either 
multiplication or addition to solve this 
problem? 

 

 

 

 

 

 

 
 ______________________________  

16. Select all the equations that 105 makes 
true. 

  7 ×  = 70,000 

   × 5 = 500,000 

   × 3 = 150,000 

  4 ×  = 400,000 

   × 9 = 450 
 ______________________________  

17. A department store sells 152 pairs of 
jeans for $29 each. Which is the best 
estimate of the total sales for the jeans? 

A $3,000 

B $3,500 

C $4,000 

D $4,500 

 



 

 

18. Each shaded area in the grids below 
represents a decimal. 

 

A. What is the sum of the decimals? 

 

 

 

B. Explain how you found your answer. 

 

 

 

 

 
______________________________  

19. Mora ate 8.5 containers of yogurt one 
week. Each container held 5.4 ounces of 
yogurt. 

A. How many ounces of yogurt did she 
eat in all? 

A 40.2 ounces 

B 42.0 ounces 

C 45.9 ounces 

D 76.5 ounces 

B. Round the answer to A to the 

 nearest ounce. 

 

 

20. Write >, <, or = in each circle to make 
the statements true. 

20a. 5 + 2.063        7 + 0.603 

20b. 200 + 93.1000        200.050 + 93 

20c. 30.4 + 1.080        30.08 + 1.4 

20d. 0.2 + 0.06        0.15 + 0.150 
______________________________  

21. A farmer has 24 crates of plums ready to 
sell. Each crate contains 208 plums. 
How many plums does the farmer have 
in all? Use reasoning to explain how you 
can use estimating to check your 
answer. 

 

 

 

 

 

 
 ______________________________  

22. Choose the correct product for each 
expression. 

 74.3 7,430 743 0.743 

7.43 × 102     

743 × 0.1     

74.3 × 0.01     

0.743 × 104     
 ______________________________  

23. The number 0.06 is 
 

1

10
 of which 

decimal? 

A 0.006 C 0.6 

B 0.06 D 6.0 

 



 

 

24. Brandon stands on a scale holding two 
boxes. The weight of Brandon and the 
boxes together is 61.56 pounds. 
Brandon’s weight without the boxes is 
53.28 pounds. 

A. What is the combined weight of the 
two boxes that Brandon is holding? 
Draw and label a bar diagram to 
represent the problem. 

 

 

 

 

 

 

 

 

 

 

25. Evan wants to find 0.8 × 0.9. 

A. Use the hundredths grid to model the 
problem. 

  

B. What is the product? Explain how 
you used the grid to find the answer. 

 

 

 

 

 

 

 

 

 

 

26. Find two decimals that are equivalent to 

(5 × 102) + 
 

3´ 1

100

æ

èç
ö

ø÷
. Write the decimals 

in the box. 

  

 
 ______________________________  

 

27. Nick and his classmates set a goal of 
reading 8,000 pages in 18 weeks. The 
first week they read 398 pages. Nick 
says, “Since  
400 × 20 = 8,000, we will reach our goal 
if we read 398 pages each week for 18 
weeks.” Do you agree with Nick? 
Explain. 

 

 

 

 

 

 

 

 

 

50.003 500.030 50.300 500.003 
50.30 500.03 



 

 

 

28. What is the sum? 

0.38 + 7.5 + 10.36 

A 7.88 

B 11.49 

C 18.14 

D 18.24 
______________________________  

 

29. Leah buys 32 strips of ribbon. Each strip 
is 11.2 inches. 

A. Estimate the total length of ribbon that 
Leah buys. Write an equation to 
show your work. 

 

 

B. What is the exact total length of 
ribbon that Leah buys? 

 __________ inches 
______________________________  

 

30. Ryan had $36.24 in his wallet. He spent 
$8.36 at the bookstore and $15.97 at a 
deli. Estimate the amount of money he 
has left. Find the exact amount he has 
left. 

 
______________________________  

 

 

 

 

 

 

 

 

31. The mass of a quarter is 5.67 grams. The 
mass of a dime is 0.4 times the mass of a 
quarter. 

A. What is the mass of a dime? 

 
B. Explain how you found your answer. 

 
 ______________________________  

 

32. What is the value of 7.239 × 104 and 
what is equivalent to multiplying a 
number by 104? 

 



 

 

33. A bakery receives an order for 1,600 
cookies. If 12 cookies are packed in each 
bag, will 132 bags be enough? Show your 
work in the box. 

 
______________________________  

34. What is equivalent to  

 
 

1
10

1
100

(7 × 100) + (5 × 1) + 8 ×

+ 1 × ?
 

Explain why 75.81 is NOT equivalent to the 
given expression. 

 
______________________________  

35. Which of the following will be true when 
104 is used? 

A 634 ×
 

 = 6,340,000 

B  × 40 = 4,000 

C 8 ×
 

 = 800,000 

D  × 95 = 9,500 

36. Karen, Peyton, and Annie all ran in a 
race. Karen ran the race in 43.52 seconds. 

A. Peyton’s time running the race was 
2.17 seconds more than Karen’s 
time. What was Peyton’s time? 
Complete the bar diagram to help 
you. 

 

B. Annie’s time running the race was 
4.08 seconds less than Karen’s time. 
Her goal was to complete the race in 
less than 39.50 seconds. Did she 
meet her goal? How can you tell? 

 
 ______________________________  

37. Write >, <, or = in each circle to make the 
statements true. 

11a. 12.07 + 7.107  18.009 + 1.15 

11b. 405 + 0.200  400 + 5.20 

11c. 200.09 + 63.09  250 + 13.090 

11d. 87.3 + 8.008  60.02 + 35.3



 

 

38. Sylvan solved a division problem below. 
He made a mistake in his method. 

 

1.6 ÷ 0.4 = 0.4    1.6 ÷ 0.4 = 4 

A. What is the mistake that Sylvan made 
solving the problem? 

 
B. Show how you would correct the 

error. 

 
______________________________  

39. Find 
 
1
3
- 1

4
. Show your work. 

 

40. A market has 648 apples packaged in 
bags with 12 apples each. Write an 
equation to determine the number of 
bags and solve. Write a number in each 
box to determine the number of bags. 

 

 
 ______________________________  

41. Lashaya decides to jog 8 miles. She is 
only able to jog 5

16
 that distance. Use the 

model to show how far Lashaya was able 
to jog. Then write the equation that 
represents the problem and solve. 

 

 
 ______________________________  



 

 

41. The table shows masses of different 
types of nuts that Nathan buys. He plans 
to mix the nuts and then separate them 
into bags. Each bag will have 1.2 kg of 
nuts in it. He wants to know how many 
bags of mixed nuts he can fill. 

Type of Nut Mass (kg) 

Almonds 3.64 

Cashews 2.79 

Peanuts 3.44 

Pine Nuts 2.73 

A. Explain the steps you need to take to 
solve this problem. 

 
B. Write an equation and draw a bar 

diagram to show each step. 

 
 

C. How many bags of mixed nuts will 
Nathan fill? How can you tell the last 
bag will be only partially filled? 

 
 ______________________________  

42. Find the area of a rectangle with side 
lengths 3

5
 inch and 5

6
 inch. Use the 

drawing to show your work. What 
equation does the drawing represent? 

 

 
 ______________________________  

43. Sean is getting gas for his car. The car’s 
12-gallon tank is 1

4  full. Gas costs $2.449 

per gallon. To the nearest cent, how 
much will it cost Sean to fill the tank? 

 

 



 

 

44. Select each true statement. 

 660 ÷ 30 = 23 

 780 ÷ 60 = 13 

 7,600 ÷ 40 = 190 

 6,300 ÷ 20 = 310 

 500 ÷ 50 = 20 
______________________________  

45. Students are dividing their school’s 
garden into plots. 

 

A. The garden’s length is 40.8 feet. It will 
be divided into 12 sections across. 
How long is each section? Show 
your work. 

 
B. The garden’s width is 28.6 feet. It will 

be divided into 11 sections. How 
wide is each section? Show your 
work. 

 

46. Which of the following expressions could 
NOT be changed to have a denominator 
of 20 in order to solve? 

A 9 12
5 16–  C 8 2

16 5–  

B 31
5 18–  D 3 22

4 40–  

 ______________________________  

47. An auditorium has 644 seats. Each row 
has 23 seats. How many rows are in the 
auditorium? Use estimation to show that 
your answer is reasonable. 

 
 ______________________________  

48. To calculate 735 ÷ 100, how many 
decimal places to the left should the 
decimal point in 735 move? What is 735 
÷ 100? 

 
 ______________________________  

49. Luke hiked 1
46 miles. Joana hiked 1

52  

times as far. How far did Joana hike? 
Write an equation to model your work. 

 



 

 

50. In Sara’s class, 2
5

 of the students ride a 

bus, and 1
3

 ride a car to school. The rest 

walk to school. 

A. Explain how you can find the fraction 
of students who walk to school. 

 

B. Find the fraction of students who ride 
a bus or car to school. Draw a 
diagram and use an equation to find 
your answer. 

 

C. Find the fraction of students who 
walk to school. Draw a diagram and 
use an equation to find your answer. 

 

51. Find the product of 3
8

 and 4
5

. Draw a 

model to explain your work. 

 
 ______________________________  

52. Use equivalent fractions to find the sum 
of 

 
2

15
and 

 
3
5
. Show your work. 

 
 ______________________________  

53. Mary has 1
67  yards of cloth. She uses 

1
43  yards. She claims that she has 1

24  

yards of cloth left. Do you agree? 
Explain. 

 
 ______________________________  

54. Ariana bought 7 muffins. She paid a total 
of $13.02. How much did she pay for 
each muffin? Explain your answer. 
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